
BOUND States :

Def. A bound state is one in which a particle's motion

is restated by an external force to a finite region of

space 05×4

VH1 {% otherwise

Infinite Well :
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✗ 1×1 = EYH) → we choose U to be=D

y
we can rewrite it as between the walls ,

there

we find the time indep .
schriidingec eq

gzY 1×1 = - K2 41×1 DO NOT ERASE ME

where we defined :

' K2 = 2mF
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Let's guess the answer :
Poll :

the solution Is a fat tie. Jfk) =
K2 * fix ,

5×2

- Kx IC ) Coskx

A) l

B) sinlkx )

- KX
- KX

IA) - he
= +We ⑤
JAX

(B) kloslkxl → - K2 . siulkx )

( we need to impose boundary conditions : 41×-01=41×-11
= 0

• for ✗ =D 41×1=0

✗ =L ✗ ( ✗ =L ) = SMKL ☆ k=h =

this eq .

allows us to find the eigenstates : ÉZ

41×1 = A - SMKX lug.im . bound states ace standing waves
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and llgenvalues n = 1,2 , . . .

* n=0 IS hot and : ✗=p § f- =p
Violates uncut ,
principle

- analogy w classic trio
,

• additional comments : but in this case
,
a quantum

particle CAN'T have ANY value of the energy
only special ALLOWED values

A- can be det
. by normalizing :
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This plot if for the probability density of finding the

particle in

the well
.
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Solutions :
EIGENSTATES EIGENVALUES
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Energies are discrete

7 NODES : points in which 141×112=0
• How can the panicle get from one place in the well

to anothei if there is no possibility of it being
found at a point in between ?

SOLUTION : has to do with duality palliate / wave

mature see pg ,
ISS


